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Question Number : 1 Question Id : 68019112121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The portion of transmembrane proteins that cross the lipid bilayer are usually

. d=helices
. p-sheet
3. turns

. loops
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Options :

68019147801. 1
68019147802. 2
68019147803. 3

68019147804. 4

Question Number : 1 Question Id : 68019112121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147801. 1
68019147802. 2
68019147803. 3

68019147804. 4

Question Number : 2 Question Id : 68019112122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Enzyme) LIST II (Function)
A |Cytochrome oxidase| 1. |Electron transport system
B. |Topoizsomerases II. |Change linking number
C. |Cohesins I[TI. |DNA Replication
D. [PCNA IV |Cell cycle

Choose the correct answer from the options given below:

(A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
- (A) - (). (B) - (II). (C) - (IV). (D) - (III)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fas b2 —

i

Options:

68019147805. 1
68019147806. 2
68019147807. 3
68019147808. 4

Question Number : 2 Question Id : 68019112122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I). (B) - (II). (C) - (IT). (D) - (IV)
2.(A)-(I).(B) - (ITI). (C) - (IT). (D) - (IV)
3.(A)-(I).(B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (1)

Options :

68019147805. 1

68019147806. 2

68019147807. 3

68019147808. 4

Question Number : 3 Question Id : 68019112123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following enzyme 1s inhibited by citrate in Kreb's cycle?

. Phospho-fructo kinase II (PFKII)
. Aldolase

. Pyruvate kinase

4. Phosphoglycerate mutase (PGM)

b4 =

L]

Options:

68019147809. 1
68019147810. 2
68019147811.3
68019147812. 4



Question Number : 3 Question Id : 68019112123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F-aRga 3 9 S99 UogH 9d 9% § d5cc gRI a1ied 8id1 87
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3. OO=d¢ BIEd
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Options :

68019147809. 1
68019147810. 2
68019147811. 3

68019147812. 4

Question Number : 4 Question Id : 68019112124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why 1s the presence of proline destablizes o-helix?

A, Proline residue introduces a destablizing kink in the g-helix

B. In proline, the nitrogen atom 1s a part of a rigid ring, and rotation about N-C bond is not
possible

C. The nitrogen atom of a proline residue in a peptide linkage has no subsituent hydrogen to
participate in hydrogen bonds with other residues

D. Proline residue works as a helix linker

Choose the correct answer from the options given below:

A). (B) and (D) only

.(A). (B) and (Omﬂn

(A). (B). (C) and (D)
(C)

.(B).(C) and (D) only

1.
1

—, g — —

Options :
68019147813. 1
68019147814. 2



68019147815. 3

68019147816. 4

Question Number : 4 Question Id : 68019112124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019147813. 1
68019147814. 2
68019147815. 3

68019147816. 4

Question Number : 5 Question Id : 68019112125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are components of lipid raft in plasma membrane?

A. Cholesterol
B. Sphingolipids
C. Glycolipids
D. Phospholipids

Choose the correct answer from the options given below:

. (A) and (B) only
. (A) and (C) only
.(B) and (C) only
. (C) and (D) only

e o=

Options :

68019147817. 1
68019147818. 2
68019147819. 3

68019147820. 4

Question Number : 5 Question Id : 68019112125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Bad (A) AR (B)
2. 9ad (A) 3R (C)
3.9ad (B) 3R (C)
4. %ad (C) AR (D)
Options :
68019147817. 1
68019147818. 2
68019147819. 3

68019147820. 4



Question Number : 6 Question Id : 68019112126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following enzymes is defective in galactosemia- a fatal genetic disorder i infants?

1. Glucokinase

2. Galactokmase

3. UDP-galactose 4- epimerase

4. Galactose-1-phosphate uridyltransferase

Options :

68019147821. 1
68019147822. 2
68019147823.3
68019147824. 4

Question Number : 6 Question Id : 68019112126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147821. 1
68019147822. 2
68019147823. 3

68019147824. 4

Question Number : 7 Question Id : 68019112127 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Vitamin Disorder
A |Vitamin- A I. |MNight blindness
B. |Vitamin- D II. |Scurvy
C. |Vitamin- C ITI. |Fat soluble vitamin
D. |[Vitamin- K IV |Blood clotting

Choose the correct answer from the options given below:

(A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
(A) - (I). (B) - (III). (C) - (IT). (D) - (IV)
(A) - (D). (B) - (II). (C) - (IV). (D) - (IIT)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

| S

e o

Options :

68019147825. 1
68019147826. 2
68019147827.3

68019147828. 4

Question Number : 7 Question Id : 68019112127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (I1). (C) - (1II). (D) - (IV)
2. (A) - (D). (B) - (TI1). (C) - ID). (D) - (IV)
3. (A) - (I). (B) - (I). (C) - (IV)). (D) - (I11)

4. (A) - (1), (B) - (IV). (C) - (I). (D) - (II)
Options :
68019147825. 1
68019147826. 2
68019147827. 3

68019147828. 4

Question Number : 8 Question Id : 68019112128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of the given intermediates formed during glycolysis

A. Fructose 1.6-biphosphate
B. Fructose 6 phosphate

C. Lactate

D. Phosphoenolpyruvate

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D). ().
4. (B). (A). (C). (D)

Options:

68019147829. 1



68019147830. 2
68019147831. 3

68019147832. 4

Question Number : 8 Question Id : 68019112128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147829. 1
68019147830. 2
68019147831. 3

68019147832. 4

Question Number : 9 Question Id : 68019112129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sequence of the given enzymes involed in TCA cycle
(A). Aconitase

(B). Fumarase

(C). Maltate dehydrogenase

(D). w-ketoglutarate dehydrogenase

1. (A). (B). (C). (D).
2. (A). (D). (B). (C).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A)

Options :

68019147833. 1
68019147834. 2
68019147835. 3

68019147836. 4

Question Number : 9 Question Id : 68019112129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C). (D).
2. (A), (D). (B). (C).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A)
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Options :

68019147833. 1
68019147834. 2
68019147835. 3

68019147836. 4



Question Number : 10 Question Id : 68019112130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a fluorescence dye?

1. Alexa Fluor

2. Green fluorescent proten (GFP)
3. Red fluorescent protein (DsRed)
4. Xylene cyanol

Options :

68019147837. 1
68019147838. 2
68019147839. 3

68019147840. 4

Question Number : 10 Question Id : 68019112130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Frafefad # 9 1 o wiadife aoie 7ol ¢

1. TA T iR

2. UH TIRNE WidH (GFP)
3. 38 TIRRIC W (DsRed)
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Options :

68019147837. 1
68019147838. 2
68019147839. 3
68019147840. 4

Question Number : 11 Question Id : 68019112131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The technique used to identify the specific DNA in bacterial colonies 1s-

. In-situ hybridization

. Dot blot

3. Colony hybridization
4, Western hybridization

I =

Options :

68019147841. 1
68019147842. 2
68019147843.3
68019147844. 4

Question Number : 11 Question Id : 68019112131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147841. 1
68019147842. 2
68019147843. 3

68019147844. 4

Question Number : 12 Question Id : 68019112132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which metal 1s used for electron beam generation 1n scanning electron microscopy?

. Tungsten (W)

. Magnesium (Mg)
. Mercury (Hg)

. Zinc (Zn)

- —

e Taa

Options :

68019147845. 1
68019147846. 2
68019147847. 3

68019147848. 4

Question Number : 12 Question Id : 68019112132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
W11 Seiae I TSI U] § Seiag A [0 Ul SedTe o foit ot 1] &1 Ul o
olTdl &7

1. TIREA (W)

2. THRMH (Mg)

3. TR (He)
4. 151 (zn)

Options:

68019147845. 1
68019147846. 2
68019147847.3

68019147848. 4

Question Number : 13 Question Id : 68019112133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the role of sodium dodecyl sulfate (SDS) in protein electrophoresis
(A). Add net negative charge to the protein

(B). Seperate lipids on the basis of their molecular weight

(C). Modify native conformation of a protein

(D). Allows direct destaining of the proteins

1. (A). (B) and (D) only.
2. (A) and (C) only.
3. (A). (B). (C) and (D).
4. (B) and (D) only:.

Options :

68019147849. 1
68019147850. 2
68019147851. 3

68019147852. 4

Question Number : 13 Question Id : 68019112133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
2.%ad (4) AR (C)
3.9dd (A). (B). (C) 3R (D).
4. %dd (B) 3R (D)

Options:

68019147849. 1
68019147850. 2
68019147851.3
68019147852. 4



Question Number : 14 Question Id : 68019112134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[soelectric focusing allows seperation of the proteins according to their-

1. pH
2. pl
3.pKa

4. pKb
Options :
68019147853. 1
68019147854. 2
68019147855. 3

68019147856. 4

Question Number : 14 Question Id : 68019112134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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.pH
pI
.pKa
4. pKb
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Options :

68019147853. 1
68019147854. 2
68019147855. 3
68019147856. 4

Question Number : 15 Question Id : 68019112135 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Western Blotting [. |DNA identification
B. |Southern Blotting II. |Protein identification
C. |Northern Blotting I1I. | Protein-protein interaction
D. |Yeast two-hybrid system| IV. |ENA 1dentification

Choose the correct answer from the options given below:

(A) - (II). (B) - (I). (C) - (IV). (D) - (III)
. (A) - (D). (B) - IV). (C) - (I). (D) - (III)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

fag 2 —

Options :

68019147857. 1
68019147858. 2
68019147859. 3

68019147860. 4

Question Number : 15 Question Id : 68019112135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (D). (B) - (I). (C) - (IV). (D) - (III)
2. (A) - (D). (B) - (IV). (C) - (I). (D) - (III)
3.(A)-({@). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147857. 1
68019147858. 2
68019147859. 3

68019147860. 4

Question Number : 16 Question Id : 68019112136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the given steps involved in polymerase chain reaction-
(A). Denaturation

(B). Annealing

(C). Extension

(D). Cycling

1. (A). (B). (C). (D).
2. (A). (C). (B). (D)
3.(B). (A). (D). (C)
4. (C). (B). (D). (A)

Options :
68019147861. 1
68019147862. 2

68019147863. 3



68019147864. 4

Question Number : 16 Question Id : 68019112136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- (C). (B). (D). (A)
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Options :

68019147861. 1
68019147862. 2
68019147863. 3

68019147864. 4

Question Number : 17 Question Id : 68019112137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vertical gel electrophoresis is routinely used for the seperation of-

. Protein

. DNA

. RNA

4. Carbohydrate and lipid

| I

Taa

Options :
68019147865. 1
68019147866. 2

68019147867. 3



68019147868. 4

Question Number : 17 Question Id : 68019112137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147865. 1
68019147866. 2
68019147867. 3

68019147868. 4

Question Number : 18 Question Id : 68019112138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not a unit of radioactivity?

1. Gray (gy)

2. Roentgen (R)

3. Millicurie (mCi)
. Pascal (p)

s

Options:

68019147869. 1
68019147870. 2
68019147871.3
68019147872. 4

Question Number : 18 Question Id : 68019112138 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

P i AsarufHar o g1 781 8

1.9 (2y)
2. TCHH (R)
3. fAfeiaaRl (mci)

4. U d (p)
Options :
68019147869. 1
68019147870. 2
68019147871. 3

68019147872. 4

Question Number : 19 Question Id : 68019112139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the technique called centrifugation. the centrifugal field (G) 1s calculated as-

Options :

68019147873. 1
68019147874. 2
68019147875. 3

68019147876. 4

Question Number : 19 Question Id : 68019112139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UGG dH-ID 8, AUHE &9 (G) Bl 0 58 UHR B 910l © -

1.G=oxr
2.G=0% X1
G =’ x 1~
4. G=wxr
Options :

L]

68019147873. 1
68019147874. 2
68019147875. 3

68019147876. 4

Question Number : 20 Question Id : 68019112140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I

LISTI LISTII
DNA/RNA modifving enzvmes Reactions
A |DNasel [. |cleaves and digests RNA and not DNA
B. |[RNas= A II. |cleaves and digest the RNA strand of RNA-DNA heteroduplex
C. |51 nuclease II1. |produces single-stranded nicks in DINA
D. |[RNase H IV, |degrades single-stranded DNA and RNA

Choose the correct answer from the options given below:

1.(A)-(I). (B) - (I1). (C) - (IIT). (D) - (IV)

1 (A) - (). (B) - ). (C) - (V). (D) - (I)

3.(A) - (D). (B) - (ID), (C) - (IV). (D) - (I1T)

4.(A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019147877. 1
68019147878. 2
68019147879. 3
68019147880. 4

Question Number : 20 Question Id : 68019112140 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 A1 11 ¥ e DI
1
3. U7, TR, T, T o
Feifra S 9T TTEy SifufepaTy
A |DNasel I &ﬂ?@t{ﬁmﬁ?\
S " [P e A e St v wat
SR.TH.T-SLT.T
B. |RNase A I [gegWiad & R TH. U %3
x SITU H Ui #ge e @
C. |s1 faeres I1L. o 2
- . | T T S T T SR SR T
D. |BRNase H [R'TlﬁﬂﬁﬁﬂTEﬂ?ﬂ%
A= feu e faeedl o 9 gel 3w I -

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (ID). (B) - (I). (C) - (IV). (D) - (II)
3.(A)- (). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (I)

Options :

68019147877. 1
68019147878. 2
68019147879. 3

68019147880. 4

Question Number : 21 Question Id : 68019112141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosomes present in Arabidopsis thaliana 1s-

e Tao D
e e e~ =]
e 2 O



Options :

68019147881. 1
68019147882. 2
68019147883. 3
68019147884. 4

Question Number : 21 Question Id : 68019112141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SREISITET YTfcrgr=T H Ae[E TURE &1 T § -
.8
.10
.12
4. 14
Options:

o d =

68019147881. 1
68019147882. 2
68019147883. 3
68019147884. 4

Question Number : 22 Question Id : 68019112142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What percentage of genes are found in human genome?

1. 25% of the genome
2. 30% of the genome
. 40% of the genome
. 45% of the genome

S )

Options :
68019147885. 1

68019147886. 2



68019147887. 3

68019147888. 4

Question Number : 22 Question Id : 68019112142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A4 oi=e H ford= ufawrd S 91w ord 82

1. S DT 25 %
2. SIHIH &1 30%
3. SIHIE BT 40 %
4. SIHIH BT 45 %

Options :

68019147885. 1
68019147886. 2
68019147887. 3

68019147888. 4

Question Number : 23 Question Id : 68019112143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

Histone erasers | . |Methyltransferase

=

Histone readers | II. |Deacetylases

Histone writers | III. |Topoisomerase

o|o|w

DNA Unwinding| IV, |Bromodomains proteins

Choose the correct answer from the options given below:

- (A) - (D). (B) - (IV). (C) - (I). (D) - (III)
. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)

g b3 —

Options :



68019147889. 1
68019147890. 2
68019147891. 3

68019147892. 4

Question Number : 23 Question Id : 68019112143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 i 11 ¥ e Sifeu

g1 GGl
A |BEH TR L |Hygceiamd
B [fewr e I [Sdersad
C. |l 5 I [SIYTHTSHH
D |31 UAY SHUsSTH| IV. [FHISHA HIEH
A= feu e fawedl O 9 get 3w I -

1. (A) - D). (B) - (IV). (C) - (I). (D) - (IIT)
. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
- (A) - (). (B) - (). (C) - (IV). (D) - (III)
- (A) - (II). (B) - (IV). (C) - (D). (D) - (II)

faa B2

ey

Options :

68019147889. 1
68019147890. 2
68019147891. 3

68019147892. 4

Question Number : 24 Question Id : 68019112144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nucleosome 1s basically composed of-
(A). Histone core

(B). Linker histone

(C). Core DNA

(D). Linker DNA

. (A). (B) and (D) only.
. (A). (B) and (C) only.
(A). (C) and (D) only.
. (A) and (C) only

fag b2 —

=y

Options :

68019147893. 1
68019147894. 2
68019147895. 3

68019147896. 4

Question Number : 24 Question Id : 68019112144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R g0 U Y a1 § -
(A).%@:{aﬂ?

(B). TISid fgecH

(C). PRITATY

(D). TIS® ST T

94U U fdeedl © 9 9l STR I -

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (O)
3.%4dd (A). (C) 3R (D)
4.%ad (A) 3R (O)

Options :

68019147893. 1
68019147894. 2
68019147895. 3
68019147896. 4

Question Number : 25 Question Id : 68019112145 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange according to their lower to higher genome size-
(A). lambda (4)

(B). T4

(C).®dx174

(D). T7

1. (A). (B). (C). (D).
2. (B). (A). (C). (D)
3.(C). (D). (A). (B)
4. (C). (B). (D). (A)

Options:

68019147897. 1
68019147898. 2
68019147899. 3

68019147900. 4

Question Number : 25 Question Id : 68019112145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad o1 3% Hed 4 3= o119 PR & 3R Haf@yd @% -
(A) TFS3T (1)
(B) Tl4
(C)®x 174
(D) <17
i< feu e faeedl O 9 98l 3 T -
1. (A), (B). (C). (D)
2. (B). (A). (C). (D)
3. (C). (D). (A). (B)
4. (C). (B). (D). (A)

Options :
68019147897. 1
68019147898. 2

68019147899. 3



68019147900. 4

Question Number : 26 Question Id : 68019112146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
With the addition of linking number (Lk) by +2 to a relaxed DNA consisting of Lk = 200

1. DNA undergo the positive supercoiling with the Lk 202
2. DNA undergo the positive supercoiling with the Lk 198
3. DNA undergo the negative supercoiling with the Lk 202
4, Structure does not change

Options:

68019147901. 1
68019147902. 2
68019147903. 3
68019147904. 4

Question Number : 26 Question Id : 68019112146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lk = 200 Y g& U Fam® ST H + 2 §RIGJAT (Lk) B SIS S 91y

1. Lk 202 & H1Y S U4 U 4ATHS SHUHsad § ToRdl o

2. Lk 198 & 1Y 31, TH. U GPRIAD HUHSa 9 ToRdl &
3. Lk 202 & 914 31, TA. T, BUTHS HUHSad 4§ Tokdl §
R el gaadl 8

Options :

=

68019147901. 1
68019147902. 2
68019147903. 3

68019147904. 4

Question Number : 27 Question Id : 68019112147 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the function of topoisomerases?

1. Repair the chromosome ends
2. Form DNA isomers

3. Change the Linking Number of DNA
4. Form RNA isomers

Options:

68019147905. 1
68019147906. 2
68019147907. 3
68019147908. 4

Question Number : 27 Question Id : 68019112147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CIaI3TS Y @I 71 B 62

1. TUH & RIR] &1 gideR

2. 51 U9 U 9HGgd g4

3. S TA U D] G T B deadl
4. 3R U4 U HGYd g9

Options :

68019147905. 1
68019147906. 2
68019147907. 3

68019147908. 4

Question Number : 28 Question Id : 68019112148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the given processes mvolved in nitrogen cycle
(A). Ammonia formation

(B). Organic nitrogen formation

(C). Soil organic nitrogen formation

(D). Nitrate formation

_(A). (B). (C). (D)
.(A). (B). (D). (C)
.(B). (A). (D). (C)
.(B). (C). (A). (D)

e S B

Options :

68019147909. 1
68019147910. 2
68019147911.3

68019147912. 4

Question Number : 28 Question Id : 68019112148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1scior doh § Gitferd wisharsii &l oaaieyd &<
(A). 3HI BT Id164

(B). BIEM® AgcIoM P 3G

(C). T d SrdF® Agcior &1 3die

(D). ATZCC BT I

A fGu e fosedl O 9 981 SR I -

_(A). (B). (C). (D)

(A). (B). (D). (C)

.(B). (A). (D). (C)

. (B). (C). (A). (D)

e g b2

Options :

68019147909. 1
68019147910. 2
68019147911.3

68019147912. 4

Question Number : 29 Question Id : 68019112149 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The complete proteins produced by an organism at any one time, 1s called

transcriptome
. proteome

3. lipidome

4. metagenome

| R

Options :

68019147913. 1
68019147914. 2
68019147915. 3

68019147916. 4

Question Number : 29 Question Id : 68019112149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepsit 1t v 1T o U Sitd gR1 Icdiiad gul HidH &1 gl &rdl &

1. CHfh P
2. Hife3fiy
3. fafasm
4. HeTolHE

Options :

68019147913. 1
68019147914. 2
68019147915. 3
68019147916. 4

Question Number : 30 Question Id : 68019112150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Retroviruses are enveloped viruses that can be engineered to deliver how many bases of single-
stranded RNA

1. 500 bases

2. 1000 bases
3. 3000 bases
4. 8000 bases

Options :

68019147917. 1
68019147918. 2
68019147919. 3

68019147920. 4

Question Number : 30 Question Id : 68019112150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y GORY (YCIATARE) SHTaRU] Je dTaRd Bl § for U a-Yed SR U7 U e &R o
% o quR o o Il &

1. 500 &P
2. 1000 &R%
3.3000 &R$
4. 8000 &RP

Options :

68019147917. 1
68019147918. 2
68019147919. 3

68019147920. 4

Question Number : 31 Question Id : 68019112151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Adenoviruses are frequently used i gene delivery experiments, Their average genome size 1s
36.000 base pairs. Of their total DNA content, upto how much of adenovirus genome can be
replaced by foreign DNA?

. 5.000 base pairs

. 15,000 base pairs
. 20.000 base pairs
. 30.000 base paurs

LIPS I (N ]

e

Options:

68019147921. 1
68019147922. 2
68019147923.3

68019147924. 4

Question Number : 31 Question Id : 68019112151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USHIGRRY $1 SUUNT IR Wi [qaRvl Waii # foa1 Sl 81 377 3G o &1 TPR
36,000 HRE-JH 31 37| Pd ol U7 U A1 H I fobe US IR Ia1aRd Gii-ig Pl f[daikig st
U U GRT iRiid fovan off et 87

1. 5,000 §RP-FH

2. 15,000 4RG-TH
3.20,000 4RG-TH
4. 30,000 &§RP-GH

Options:

68019147921. 1
68019147922. 2
68019147923.3

68019147924. 4

Question Number : 32 Question Id : 68019112152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gene gun 1s one of the popular physical delivery method. Microparticles that are loaded to
deliver DNA are made up of which metal?

1. Gold

2. Silver

. Copper
4. Titanmum

faa

Options :

68019147925. 1
68019147926. 2
68019147927.3
68019147928. 4

Question Number : 32 Question Id : 68019112152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o= 719 i e faaru faféral T 9 ue 81 31 w7 U d & fou s fobw o gem-amn
EREIGE ek R,

1. 9M
2. diat
3. il

4. TTgCHTH

Options:

68019147925. 1
68019147926. 2
68019147927. 3

68019147928. 4

Question Number : 33 Question Id : 68019112153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



While delivering genes by chemical methods. one popular conjecture about what happens to
poly(ethylenimine) DNA complexes following endocytosis 18 known as the proton sponge
hypothesis. which entails the following steps

(A). PEI/DNA complexes are endocytosed.

(B). V-ATPases will pump protons into the vesicular interior

(C). Water will enter the vesicle to balance the osmotic gradient

(D). The vesicle will swell due to the entry of 1ons and water, leading to rupture

.(A). (B) and (D) only.
.(A). (B) and (C) only.
3. (A). (B). (C) and (D).
4.(B).(C) and (D) only.
Options :
68019147929. 1
68019147930. 2
68019147931. 3

68019147932. 4

Question Number : 33 Question Id : 68019112153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tt faftrr gRY it faaRd Ha w9, TeRselitR & ag ufelt vieiReR sl g g
PTG & Y TGI8, 39 R H 0P B SHH 1 Hel Wl IReed1 5 &9 5
ST o &, fored Fafafes o e eid €

(A) PEVDNA $1H1aY 3. I® Bid & |

B) V-ATPUGTY 3{: 3! H WicH &l 4y pl

(C) TRTERUT Ya Ul I Tgiferd P & ey Ul gfeer o yagr dam

(D) 3T 3R Y] & Y9 & SR Y Bl SeT, ok g He s

el fau e fooea! 3 9 98l S -

Options:

68019147929. 1
68019147930. 2
68019147931.3



68019147932. 4

Question Number : 34 Question Id : 68019112154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps in the correct order as they are mvolved in RNA mterference (RNA1).
(A). Formation of small interfering RNAg (siRNAs)

(B). Activation of RNase III like enzyme Dicer

(C). Inactivation of target RNA

(D). Formation of RISC complex

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
3. (B). (A). (D). (C).
4. (C), (B), (D). (A)

Options :

68019147933. 1
68019147934. 2
68019147935. 3

68019147936. 4

Question Number : 34 Question Id : 68019112154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3RUAU SXI&Y (RNA1) H Iifed <=0l ©f Yol vH H aafld &
(A). Y BXI&Y DA dId HRUAT (siRNAs) & FHT70]

(B). SISIR USIISH @1 dRE RNase I1I & High a0l

(C). A& REAU &1 Hfepau

(D). RISC B1Hgiay & fator

- fau 7Y fomed! & € |et SR I:

1. (A). (B). (C). (D).
2. (A). (C). (B). (D).
3.(B). (A). (D). (C).
4. (C). (B). (D). (A)

-

3




Options :

68019147933. 1
68019147934. 2
68019147935. 3
68019147936. 4

Question Number : 35 Question Id : 68019112155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the different steps of transcription in the correct order-
(A). Transcription bubble formation

(B). Phosphorylation of CTD tail

(C). Recruitment of elongation factors

(D). Dephosphorylation of CTD tail

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (C). (B), (D).
. (B). (A), (D). (C).
. (C), (B). (D). (A).

e T

Options :

68019147937. 1
68019147938. 2
68019147939. 3
68019147940. 4

Question Number : 35 Question Id : 68019112155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ciafeh ™ o [af¥rs TRl &l Het hH § oaaiedd d--
(A). CHEIP R gad DI 16
(B). CTD @ &1 BRI RIS

(). TR SR Bt ydf

(D). CTD @ &1 fOwRB RIS dgH
- feu e fds el 4 9 |8l SR

(A). (B). (C). (D).
.(A). (C). (B). (D).
. (B). (A), (D). (C).
. (C). (B). (D). (A).

e o b =

Options :

68019147937. 1
68019147938. 2
68019147939. 3

68019147940. 4

Question Number : 36 Question Id : 68019112156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In human karyotype. chromosomes are divided into how many groups?

1. 3 groups
2

68019147941. 1
68019147942. 2
68019147943. 3
68019147944. 4

Question Number : 36 Question Id : 68019112156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

O1a 5B yR=y & ORE 1 feoa el & faurfoid e srar g2

39ER
5 9HR
7 OHE
4.9 TE

Options :

1
2
3

68019147941.1
68019147942. 2
68019147943. 3

68019147944. 4

Question Number : 37 Question Id : 68019112157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In human karyotype. X chromosome belongs to which group?

. A group
. B group
3. C group
4. D group

I =

Options :

68019147945. 1
68019147946. 2
68019147947. 3

68019147948. 4

Question Number : 37 Question Id : 68019112157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O1d 5B uR= 1. X U [6d 955 ¥ Hafid 52

1.9 A
2. g B
3.99g C
4. 9D

Options :

68019147945. 1
68019147946. 2
68019147947. 3
68019147948. 4

Question Number : 38 Question Id : 68019112158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the recombinant DNA technique is alsmost obsolete?

. Long DNA synthesis

. DNA sequencing

3. Polymerase Chain Reaction
4. ¢cDNA cloning

I =

Options :

68019147949. 1
68019147950. 2
68019147951. 3

68019147952. 4

Question Number : 38 Question Id : 68019112158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ol I U U A1 8 Y &I TR SuEferd g2

2 St U9 U HReyy

1
E.GQIEFIU,W
3. GRS Ygal
4. ¢ DNA @

Options :

68019147949. 1
68019147950. 2
68019147951. 3

68019147952. 4

Question Number : 39 Question Id : 68019112159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
What 1s the function of DNA gyrase in circular DNA?

1. Negative supercoiling
2. Positive supercoiling
3. DNA packaging

4. DNA degradation

Options :

68019147953. 1
68019147954. 2
68019147955. 3
68019147956. 4

Question Number : 39 Question Id : 68019112159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JUIPR SI. U4. U H 1. UA. T. RS &1 1 51 87

1. BUTED HH S
2. YD HUH ST
3. S TA Y UDHi
ST T T &R

Options :

iy

68019147953. 1
68019147954. 2
68019147955. 3
68019147956. 4

Question Number : 40 Question Id : 68019112160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the example of Gram-negative bacteria?

1. Lactobacillus

2. Escherichia coli

3. Bacillus subtilis

4. Staphylococcus aureus

Options :

68019147957. 1
68019147958. 2
68019147959. 3

68019147960. 4

Question Number : 40 Question Id : 68019112160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad O ¥ $19-91 T0-BUTdS dac gl BT I5I801 87
1. iy
2. TR @icrs
3. 1o garcfery
4. CEEAIBIBY HINTT
Options :

68019147957. 1
68019147958. 2
68019147959. 3
68019147960. 4

Question Number : 41 Question Id : 68019112161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are viral diseases-
(A). Yellow fever

(B). Hepatitis B

(C). Chickenpox

(D). Rabies

1. (A). (B) and (D) only.
2. (A), (B) and (C) only.
3. (B). (C) and (D) only.
. (A). (B). (C) and (D).

=y

Options:

68019147961. 1
68019147962. 2
68019147963. 3
68019147964. 4

Question Number : 41 Question Id : 68019112161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafea 8 S o w feunLafa g -
(A) Uld TR
(B) gUcTScH
(C) FIH-Tgiag
(D) Y@ld
- feu e fowedl & 9§ 981 SR g -
1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.%qd (B). (C).31R (D)
4. (A). (B). (C).3{R (D)

Options :
68019147961. 1
68019147962. 2

68019147963. 3

68019147964. 4

Question Number : 42 Question Id : 68019112162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Lederberg and Tatum describe the phenomena of-

1. Transformation
2. Conjugation

. Mutation

4. Transversion

L]

Options :

68019147965. 1
68019147966. 2
68019147967. 3

68019147968. 4

Question Number : 42 Question Id : 68019112162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Ae¥at 3R een g Ui T avfT Hvd & -

I RELY

3. JARadH
4. A=A
Options :
68019147965. 1
68019147966. 2
68019147967.3

68019147968. 4

Question Number : 43 Question Id : 68019112163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |D’Herelle and Twort| I. |Bacterial transformation
B. |Beadle and Tatum II. |Penicillin
C. |Flemimng II1. |One-gene-one-enzvme hypothesis
D. |Gniffith [V. |Bacterial viruses

Choose the correct answer from the options given below:

(A)-(IV). (B) - (III). (C) - (IT). (D) - (I)
. (A) - (I). (B) - (IIT). (C) - (IV). (D) - (II)
- (A) - (). (B) - (ID). (C) - (IV). (D) - (III)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fas b2 —

i

Options:

68019147969. 1
68019147970. 2
68019147971.3

68019147972. 4

Question Number : 43 Question Id : 68019112163 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 =i 11 F e Sifo

T I T
Sed AR gle | 1 [Siam sufaeo
digd AR ded | 1. [dffafE
prit=n| 111 [Uh-SiH-TH-TogH UG
ey IV. [daciiega arued

=

ofo|w

3 fag e faeedt 7@ 9d ST

1. (A) - (IV). (B) - (IIT), (C) - (II). (D) - (I)
(A) - (D). (B) - (II). (C) - (IV). (D) - (I)
(A) - (D). (B) - D). (C) - (IV). (D) - (1)
(A) - I, (B) - (IV). (C) - (D). (D) - (II)

| )

i ]

Options :

68019147969. 1
68019147970. 2
68019147971. 3

68019147972. 4

Question Number : 44 Question Id : 68019112164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vaccine 1s not available for which disease-

. Hepatitis B
. Influenza
AIDS

4. Mumps

|

Taa

Options :

68019147973. 1
68019147974. 2
68019147975. 3



68019147976. 4

Question Number : 44 Question Id : 68019112164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep g el & ferg St Suaes 6T € -

1. gucrsfeadt

5 :

3.5

4, WG (HHEH)
Options :
68019147973. 1
68019147974. 2
68019147975. 3

68019147976. 4

Question Number : 45 Question Id : 68019112165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antibody formed immediately after infection 1s-

IgM
1gG
gD
4. IgE

|

L]

Options :

68019147977. 1
68019147978. 2
68019147979. 3
68019147980. 4

Question Number : 45 Question Id : 68019112165 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T & qXd 18 &1 aTd FfoReft 8-

IgM
gl
gD
4. IgE

|

L]

Options :

68019147977. 1
68019147978. 2
68019147979. 3

68019147980. 4

Question Number : 46 Question Id : 68019112166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in Gram-stain procedure-
(A). Staining with Crystal Violet

(B). Staining with Gram's lodine

(C). Decolarization

(D). Staining with Safranine

. (A). (B, (C). (D)
. (A). B). (D). (C)
. (B). (A). D). (C)
. (C). (B). (D). (A)

| I

e g

Options:

68019147981. 1
68019147982. 2
68019147983. 3
68019147984. 4

Question Number : 46 Question Id : 68019112166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- AP Uishar | i 9ol &l ayd & -
(A). fobeed argele & 91y A
(B). UTH -ASH & WY AR
(C). To-fapfd
(D). UTBT= & A1y 3RS
i fgu e fadenl H U 98l Sk g -
1. (A). (B). (C). (D)
2. (A). B). D). (©)

- I:B}: t‘ﬂ*)\l' {D;I: (CJ
. (€). (B). (D). (A)

e L

Options :

68019147981. 1
68019147982. 2
68019147983. 3

68019147984. 4

Question Number : 47 Question Id : 68019112167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yellow fever is caused due to the human-to-human transmission by-

1. Aedes aegypti
2. Culex

3. Dermacentor andersoni

4. Myeobacterium tuberculosis

Options:

68019147985. 1
68019147986. 2
68019147987.3

68019147988. 4



Question Number : 47 Question Id : 68019112167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uld a3 & O4-J-01d IR0 & HRUI BT © -

. gsior gforet

%mﬁ
4. GISPIGFTINGH SaRP el

Options :

1
2
3

68019147985. 1
68019147986. 2
68019147987. 3

68019147988. 4

Question Number : 48 Question Id : 68019112168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amino acid that serves as precursor for formation of the pigment responsible for human skin
color 1s

1. Tryptophan
2. Cholesterol

. Tyrosine

4. Indoleamine

L]

Options :

68019147989. 1
68019147990. 2
68019147991. 3

68019147992. 4

Question Number : 48 Question Id : 68019112168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfET ot Sff A1 e & 31 b oy SeRardl quies o 116 & forg ydadi & wu H o
GG
1. P
ll 1 ; L
3. TR
e
Options :
68019147989. 1
68019147990. 2
68019147991. 3

68019147992. 4

Question Number : 49 Question Id : 68019112169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Body part Bone involved
A |Shoulder I. |Tarsals
B. |Thigh II. |Carpals
C. |Wrist ITI. |Humerus
D. |Ankle IV. |Femur

Choose the correct answer from the options given below:

. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
(A) - (I). (B) - (IID). (C) - (I). (D) - (IV)
- (A) - (TIIT). (B) - (IV). (C) - (I). (D) - (IT)
(A) - (III). (B) - (IV). (C) - (I). (D) - (I)

|

e g

Options :
68019147993. 1
68019147994. 2

68019147995. 3



6801914799%6. 4

Question Number : 49 Question Id : 68019112169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 161 i 11 ¥ e Sifore
i o
A |DHT I [eREd
B. [9™ 1. (s
C. |wars 1L |[§gHH
D. [2& IV. [

A= feu e faeedl o 9 9el SR gHT
1. (A) - (I).(B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (D), (B) - (TIT), (C) - (1), (D) - AV)
3. (A) - (III). (B) - (IV). (C) - (I. (D) - (II)}
4. (A) - (1), (B) - (IV). (C) - (I). (D) - (I)

Options :

68019147993. 1

68019147994. 2

68019147995. 3

68019147996. 4

Question Number : 50 Question Id : 68019112170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The propagation of action potential in myelinated nerve fiber 1s faster because of

. Continuous conduction

. Saltatory conduction

. Spontaneous conduction
4. Intermittent conduction

faa -2 —

Options :



68019147997. 1
68019147998. 2
68019147999. 3

68019148000. 4

Question Number : 50 Question Id : 68019112170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OrferFged dieT X § fohaT &l &1 VR doil 9§ gidl § #iid
1. PR =eT
2. 9@ =T
3. WA 9reH
4. Gz 91e
Options:

68019147997. 1
68019147998. 2
68019147999. 3
68019148000. 4

Question Number : 51 Question Id : 68019112171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calcitonin is produced by

1. Follicular cells of the thyroid gland

2. Parafollicular cells of the thyroid gland
3. Parathyroid gland

4. Follicular cells of the ovary

Options:
68019148001. 1
68019148002. 2

68019148003. 3



68019148004. 4

Question Number : 51 Question Id : 68019112171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeHICI BT IAE Bl &

1. UTERTTS U 6] BT e DIRIPIH gRI
2. YIRS UiY & WRIBIAH R SIRID13 gRI
3. IRTUTARTSS Uy g
4. S D BIAPUR BITABIS GRI
Options :
68019148001. 1
68019148002. 2
68019148003. 3

68019148004. 4

Question Number : 52 Question Id : 68019112172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lymphoid stem cells in the bone marrow form
(A). Natural killer cells

(B). Platelets

(C). B lymphocyte

(D). Neutrophils

. (A) and (D).
. (A) and (C).
. (A) and (B).
. (C) and (D).

|

e g

Options :

68019148005. 1
68019148006. 2
68019148007. 3



68019148008. 4

Question Number : 52 Question Id : 68019112172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& e § qdid] & BIfeN g9 8-
(A). Widfad fdoar difdred

®B). Weded

(¢). B fommpEe

(D). T2t

=i feu 7Tu faedi § I el S 9 -

1. 34d (A) AR (D).
2.%ad (A) 3R ().
3.%ad (A) 3R (B).
4. %44 (C) 3R (D)

Options :

68019148005. 1
68019148006. 2
68019148007. 3

68019148008. 4

Question Number : 53 Question Id : 68019112173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The perforation between left and right atria of a fetal heart 1s known as

1. Foramen ovale

2. Ductus arteriosus

3. Fossa ovalis

4. Ligamentum arteriosum

Options :



68019148009. 1
68019148010. 2
68019148011. 3

68019148012. 4

Question Number : 53 Question Id : 68019112173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YU & gad & a1 3R a1l 3iftig & Hed U o ardl (8% &1 SH1 Sl §:

1. HSTPR ™
2. YT At
3. ISR @Id
g qifg

Options :

=

68019148009. 1
68019148010. 2
68019148011. 3

68019148012. 4

Question Number : 54 Question Id : 68019112174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On the basis of type of body cavity. platyhelminthes can be categorized as

1. Aceolomate

2. Schizocoelomate
3. Pseudocoelomate
4. Enterocoelomate

Options :
68019148013. 1
68019148014. 2

68019148015. 3



68019148016. 4

Question Number : 54 Question Id : 68019112174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRR TGP UPR & YR R @eloerid [y i g oR FHiigd o ot 9@ 82

1. gD
2. Reife®
3. G Wfe®
4. 316l

Options :
68019148013. 1
68019148014. 2

68019148015. 3

68019148016. 4

Question Number : 55 Question Id : 68019112175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST I (Procedure) LIST II (Features)

DNA can be cut info large fragments and circularized for use
chromosome walking

A |Radiation hybrid mapping L

Sequence tagged site (5TS) Useful for cloning of overlapping DNA fragments (restricted to
B. : IL
mapping about 200 kb)

C. |Chromosome jumping I1I. |Fragment genome into large pieces and locate markers and genes

v Applicable to any part of DNA sequence if some sequence

D. [Chromosome walking A o i :
information 15 available

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (I1), (C) - (111, (D) - (IV)
2. (A) - (I). (B) - (III). (C) - (I0). (D) - (IV)
3.(A)- (D). (B) - (I0). ( -(IV). (D) - (III)
4. (A) - (I, (B) - (IV). (C) - (I). (D) - (II)



Options :

68019148017. 1
68019148018. 2
68019148019. 3
68019148020. 4

Question Number : 55 Question Id : 68019112175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 Al 11 ¥ e Sifee
=
ST U DI g8 chol H @ied [dl
N GRS [ [ T & SR IO &l
o [ EE  |ofegEid o2 Iugn | oS
qhdip|
Hiqeardt Siuu e sl ol gl
HhH S . Lago s
B. ot | 1T %M{kabaﬁ
._ o SHIA Bl 95 g gl # fauifeid o2
C. [ e ML |3tk Rreds ok i &1 aaT s
o e $B 3IhH TR JUTH §
D. [pHMm et |1V, [dl St o Tl 1 4T
TR TRLEIT

3 fg e fawedt 3 Q98 STRIAU:

(A) - (I). (B) - (I1). (C) - (TII), (D) - (IV)
(A)-(I). (B) - (III). (C) - (II). (D) - (IV)
(A) - (I). (B) - (I1), (C) - (TV). (D) - (IIT)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

| S

e L

Options :

68019148017. 1
68019148018. 2
68019148019. 3

68019148020. 4



Question Number : 56 Question Id : 68019112176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A clotting disorder which 1s sex-linked disease -

. Sickle cell anaemia
. Thalessemia

. Hemophilia
4. Albenism

Options :

b =

L]

68019148021. 1
68019148022. 2
68019148023. 3

68019148024. 4

Question Number : 56 Question Id : 68019112176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT oA Bl f[deR o [ Jafi I g -

1. &I BITRePT SRl
2. Jrdire
3. BHHIBIfeY
4. UeslfToH
Options:
68019148021. 1
68019148022. 2
68019148023. 3

68019148024. 4

Question Number : 57 Question Id : 68019112177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a peat moss?

1. Pellia

2. Sphagnum
3. Marchantia
4. Funaria

Options :

68019148025. 1
68019148026. 2
68019148027. 3
68019148028. 4

Question Number : 57 Question Id : 68019112177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad § B A die A B2

fag b —
gﬂ

4. FHGRaT
Options:
68019148025. 1
68019148026. 2
68019148027. 3
68019148028. 4

Question Number : 58 Question Id : 68019112178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The basal portion of a mature ligule of Selaginella 1 called as:

1. Basal sheath
2. Lamella

3. Glossopodium
4. Stalk

Options :

68019148029. 1
68019148030. 2
68019148031. 3

68019148032. 4

Question Number : 58 Question Id : 68019112178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud oo URus fergd & gd Y &l Bl olldl &:

. SYRT 3TER0]
BRNED
dgitsTy
4.9d

Options :

fag B2 —

68019148029. 1
68019148030. 2
68019148031. 3
68019148032. 4

Question Number : 59 Question Id : 68019112179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vessels are present in:

1. Cyeas
2. Zamia
. Ginkgo
4, Gnetum

L]

Options :

68019148033. 1
68019148034. 2
68019148035. 3

68019148036. 4

Question Number : 59 Question Id : 68019112179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
T qIfg T SURRYd &:

1. Higed

2. oIET

3. o=

4. Gii+cH
Options:
68019148033. 1
68019148034. 2
68019148035. 3

68019148036. 4

Question Number : 60 Question Id : 68019112180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I (Transposons)|LIST I1 {Organismﬁ

A |P element I. |Drosophila
B. |LINE and SINE | II. |Human
C. |Ty element II1 | Yeast
D

- |Tn element IV |Bacteria

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (II1). (D) - (IV)
2. (A) - (D), (B) - (III). (C) - (ID), (D) - (IV)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1)

Options :

68019148037. 1
68019148038. 2
68019148039. 3

68019148040. 4

Question Number : 60 Question Id : 68019112180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 el 11 9 fieH &
T 1 Tl I
(AR 3] Glk)
A lpdd L |stiftser
B. |LINE 3R SINE | IL. [Ad
C. |Tvda 111 |di%e
D. [Tn T IV. [SiTar]
1 fgu Ty fged! o 4 |et SR I

1. (A) - (). (B) - (I1). (C) - (I1I). (D) - (IV)
2. (A)- (D). (B) - (I1D), (C) - (ID), (D) - (IV)
3.(A) - (D). B) - (ID). (C) - (IV). (D) - (III)
4.(A) - (1), (B) - (IV). (C) - (1). (D) - (I1)

Options:

68019148037. 1



68019148038. 2
68019148039. 3

68019148040. 4

Question Number : 61 Question Id : 68019112181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The peptidyl transferase enzyme activity is located in the

1. Variable loop of tRNA
2. Large ribosomal subunit
3. Acceptor arm of tRNA
4. Small ribosomal subunit

Options :

68019148041. 1
68019148042. 2
68019148043. 3

68019148044. 4

Question Number : 61 Question Id : 68019112181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfPSISd Sy Uasd foodr # gt 9Tl ©:

ARNA P I UIRI

S B g2 JU-ZHTS
tRNA DI AT8] Yl
4. S B BIC JUSHIS

Options:

fag B2 —

68019148041. 1
68019148042. 2
68019148043. 3

68019148044. 4



Question Number : 62 Question Id : 68019112182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transcription factors that mediate the binding of RNA polymerase to DNA template are
(A).TFIIA

(B).TATA box

(C).TFIIB

(D).Small nuclear ribonucleoproteins

.(A) and (D) .
. (A)and (C).
. (C) and (D).
. (B) and (D).

b

[N e T

Options :

68019148045. 1
68019148046. 2
68019148047. 3

68019148048. 4

Question Number : 62 Question Id : 68019112182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HR. T, T, GeiTHS @l 81, U4, U. cHae U olig- H HEIUd] $- ard Hidead DR & -
(A). TFIIA

(B). CTeT S

(C). TFIIB

(D) BI¢ D5 g IgagfeRTadcH

14U U fdohed| © § H5l TR T -

1. %ad (A) 3R (D)
2. $ad (A) 3R (C)
)
)

3.%ad (C) 3R (D
4, %ad (B) 3R (D

Options:

68019148045. 1



68019148046. 2
68019148047. 3

68019148048. 4

Question Number : 63 Question Id : 68019112183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The histone that links two histone octamers 1s

1. Hl
2. H4
3. H2A
4. H2B

Options :

68019148049. 1
68019148050. 2
68019148051. 3

68019148052. 4

Question Number : 63 Question Id : 68019112183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fe%eH ol &l fleeeH 3pagl &l Sisdl &:

..H1
.H4
. H2ZA
4. H2B

Options :

| R

L]

68019148049. 1
68019148050. 2
68019148051. 3
68019148052. 4



Question Number : 64 Question Id : 68019112184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
tRNA 1s synthesized by

. RNA polymerase I

. RNA polymerase II

. Ribosomes

4. RNA polymerase IIT

b =

L]

Options :

68019148053. 1
68019148054. 2
68019148055. 3
68019148056. 4

Question Number : 64 Question Id : 68019112184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRNA FREESIEGEERIE

3R, T, U GidH I
3R T, U. WIS 11

RIS o
4. 3R, T, U. Qe 111

Options:

fag 2 —

68019148053. 1
68019148054. 2
68019148055. 3

68019148056. 4

Question Number : 65 Question Id : 68019112185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The gene transmission from a male parent to a female offspring (“child”) to a male “grandchild”
1§ called:

1. crisscross inheritance

2. X linked mnheritance

3.'Y linked mheritance

4. Chromosomal mheritance

Options :

68019148057. 1
68019148058. 2
68019148059. 3

68019148060. 4

Question Number : 65 Question Id : 68019112185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T G208 G0 4 U Higel S ('q=") 3 U Go "Il did" U 6l GaR0 &1 Wichdl Bl
1 HE] Sl 62

1. fpgepig gemlal

2. X-Gedfid aemid

3. Y-Oedid a9mid
4. SIAMGHY dRTd

Options:

68019148057. 1
68019148058. 2
68019148059. 3
68019148060. 4

Question Number : 66 Question Id : 68019112186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement 1s true for Barr body?

1. It 1s a highly condensed chomoszome.
2. Itis an active X chromosome.

3. It 1s equivalent to the single Y chromosome of the male.
4. It 18 equivalent to the two X chromosomes of the female.

Options :

68019148061. 1
68019148062. 2
68019148063. 3

68019148064. 4

Question Number : 66 Question Id : 68019112186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad ¥ 9 oH 9T oY aR-a1d & fau a8t &2

1. T8 U i Guf-id 707 T 8

2. U8 U i X TURE ©

3. 98 039 & Ud Y URE & YA ©
4. g8 gfgdll & &l X URE & 99 8

Options :

68019148061. 1
68019148062. 2
68019148063. 3

68019148064. 4

Question Number : 67 Question Id : 68019112187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following combinations of statements are true about C4 cycle?

(A). Malic acid formed in the chloroplast of mesophyll cells

(B). Malic acid 1s transported to the chloroplast of bundle sheath cell

(C). Pymx ic acid produced in mesophyll cells move to the chloroplast of bundle sheath cells
(D). Malic acid 1s transported to the chloroplast of mesophyll cells

1. (A). and (B) only.

2. (A). and (C) only.
3.(C) and (D) only

4. (B), (C) and (D) only

Options :

68019148065. 1
68019148066. 2
68019148067. 3
68019148068. 4

Question Number : 67 Question Id : 68019112187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Py T 9 P |1 HgIeH C4 T & SR 1 Hel 8

A) TARTRE B Agifea St J il e o
(B) BftTd 317 Yeese IR & FRICG B el wldl o

. T ¢

(C) BEITtha PIRIBTA H JeTied Uride 3 JaIs e BIIST & TR H Tl Sl

—

(D) AT® 37 Biftha SI@1el & TR | 9l odl §

Options :

68019148065. 1
68019148066. 2
68019148067. 3

68019148068. 4



Question Number : 68 Question Id : 68019112188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is true for X linked recessive inheritance?

1. All sons of an normal mother should show the trait

2. All sons of an affected mother should show the trait

. Many more females than males should exhibit the trait
4. All daughters of an normal mother should show the trait

Taa

Options :

68019148069. 1
68019148070. 2
68019148071.3

68019148072. 4

Question Number : 68 Question Id : 68019112188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafaRad ¥ 9 &F W oY X Tefcid smyEl demifd & A I8 82

1. U TH | & i 92 1 9 fa=vd veikid a1 91t

2. U guTfad | & it 3¢t o1 fagiyar ueiia o=t amfgu

3. OGNl &1 qaHT 8 o ok, Aigarsl| &1 gg [aXvd waikid &=-1 =gy
4. % 90 41 o1 9t afel &1 ug 9w vefia o3t 9mieu

Options :

68019148069. 1
68019148070. 2
68019148071.3
68019148072. 4

Question Number : 69 Question Id : 68019112189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Condition) LIST II (Characteristics)
A |Color blindness I |deficiency of clotting factor VIII

Hemophilia B II. |Insensitivity to green and red light

B.
C. |Hemophilia A III. |deficiency of clotting factor IX
D.

G-6-PD deficiency| IV. |severe anemic condition

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
3.(A) - (IV). (B) - (). (C) - (IL). (D) - (III)
4. (A) - (II). (B) - (III). (C) - (I). (D) - (IV)

Options :

68019148073. 1
68019148074. 2
68019148075. 3
68019148076. 4

Question Number : 69 Question Id : 68019112189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 Al 11 ¥ e Sifee
I i
ST
A [gui=Er I |4a®T &1 adl SR VI Ydd & HH]

el st | 11 |82 3R o1 Us™l & Ufd deTeiiadn
eIfpfermI v | 111 |4gd! &9 ald SRS IX Ydd i Sl
G-6-PD I ®HI| IV. [THR sRaadr &1 [Rufd

Ol | "

A2 Ry el §Q o SR IR

1.(A) - (I). (B) - (IT). (C) - (III). (D) - (IV)
2.(A)-(I). (B) - (I). (C) - (II). (D) - (IV)
3.(A) - (IV). (B) - (). (C) - (IL). (D) - (III)
4. (A) - (IT). (B) - (D). (C) - (I). (D) - (IV)



Options :

68019148073. 1
68019148074. 2
68019148075. 3
68019148076. 4

Question Number : 70 Question Id : 68019112190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Non-vascular land plants are called:

. Pteridophytes
. Gymnosperms
. Angiosperms

. Bryophytes

| I

L]

=

Options :

68019148077. 1
68019148078. 2
68019148079. 3

68019148080. 4

Question Number : 70 Question Id : 68019112190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
3Rfag Y Ured! &I @l o 6
| e
2. o
3. uiogrg
4. SIS C
Options :
68019148077. 1

68019148078. 2



68019148079. 3
68019148080. 4

Question Number : 71 Question Id : 68019112191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Taxol medicine used in treatment of cancer 1s extracted from:

. Taxus brevifolia

. Ephedra sp.

3. Pinus roxburghii

4. Catharanthus roseus

| R

Options:

68019148081. 1
68019148082. 2
68019148083. 3
68019148084. 4

Question Number : 71 Question Id : 68019112191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR @ Zeilel H UGN @1 SH dTcil Gdl, Caie Sl Fshitd fadl Sl e:
. T ST Hoilld

4. PNYT Aoy

Options :

|

L]

68019148081. 1
68019148082. 2
68019148083. 3
68019148084. 4



Question Number : 72 Question Id : 68019112192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The leaves used for wrapping tobacco in a ‘bidi’ are..............

1. Tea leaves

2. Tendu leaves
3. Curry leaves
4. Basil leaves

Options:

68019148085. 1
68019148086. 2
68019148087. 3
68019148088. 4

Question Number : 72 Question Id : 68019112192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A T qraTed ddc & fay 19 Ul &1 ST a1 Sra1 g2
1. 9@ O
2. 4g & T
3. Pl gd
4. qerdi & o

Options :

68019148085. 1
68019148086. 2
68019148087. 3
68019148088. 4

Question Number : 73 Question Id : 68019112193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of electron transport during electron transport chain of light
reaction:

(A) Pheophytin

(B) Plastoquinone

(C) Cytb6-f complex

(D) Plastocyanin

St

I\_.'II—L
—

(A).
. (A).
- (B).
i o

B).
B).
A),
B,

e
i T

C).
D).
D).

i
—— e —
— p—

.I-'L.u
P p—

D).

ekl i Sl B s’

D
C
C
A

‘-\_r--\_.-'
e

—

—
N—-"N_.-"-._.-'N—f
—

Options :

68019148089. 1
68019148090. 2
68019148091. 3
68019148092. 4

Question Number : 73 Question Id : 68019112193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gwﬁ?m&i?ﬁwﬁﬁaﬁﬁs@ﬂ@ﬁwmﬁ soa I & URkag 1 Gl S
|

(A). frgmrgie

(B). WRelfd—H

(C). TSl b6-f DI

(D). WREIGA=H

A4 fqu U fodedl @ 4 981 S AL -

A). (B).
.(B).
(A,
‘). (B).

1.
2

(D
(C
(C

'-‘_,J

(A). (B). (C). (D)
(A). (B). (D). (C)
(B (D). (C)
4.(C (D). (A)

el |

(A
Options :
68019148089. 1
68019148090. 2

68019148091. 3



68019148092. 4

Question Number : 74 Question Id : 68019112194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Photoperiodism) LIST II (Explanation)
A |Short Day Plants (SDP)| 1. |day light period of 14-16 hours

B. |PR II. |absorbs light at 730-735nm
C. |Long Day Plants (LDP)| III. |dark period of about 14-16 hours
D. |PER IV. |absorbs light at 660-665nm

Choose the correct answer from the options given below:

(A)-(I). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
(A) - (). (B) - (D). (C) - (IV). (D) - (III)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fag b2 —

iy

Options :

68019148093. 1
68019148094. 2
68019148095. 3
68019148096. 4

Question Number : 74 Question Id : 68019112194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 11 i 11 F e ifore

jﬁxmﬁﬂﬁﬁn‘rﬁ%m e 1 (PR
|ufRau ey @IS 1 [14-16 9 UHT BT @Y

PR 1. {730-735 nm TR UHTR &I HARINT ST &
<Y fGag UIgy (LDP) | 111 [GFTeAT 14-16 W<t BT SMUHTRIT fafd
PFR IV. [660-665 nm TR ULl B HARITHT HIdl &

2 Ry Rwed §2 a8 SRR

L (A) - (D). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (D). (B) - (III). (C) - (IL). (D) - (IV)
3.(A) - (I), (B) - (II). (C) - (IV), (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

olo|w|s

Options :

68019148093. 1
68019148094. 2
68019148095. 3
68019148096. 4

Question Number : 75 Question Id : 68019112195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the steps imnvolved in processing of green tea:
(A). Fermentation and drying

(B). Twisting and rolling of leaves to facilitate break up
(C). Initial removal of moisture content

(D). Crushing. Tearing and Curling by CTC method

1. (A). (B). (C). (D)
2. (A). (B). (D). (C)
3.(C). (B). (D). (A)
4. (B). (A). (D). (C)

Options :

68019148097. 1
68019148098. 2
68019148099. 3
68019148100. 4



Question Number : 75 Question Id : 68019112195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH-¢1 & w0l 1 [ feriad =Ror 2 &

(A). fpUaT 3R IehA

(B). UTHRUT &l T §- & fATU Tl &I BRIST R el
(C). TH B G BT RS sh1aA

(D). cTc faf¥ gRT 7ger, TS 3R gaH

1. (A). (B). (C). (D)
2. (A), (B). (D). (C)
3.(C). (B), (D). (A)
4. (B). (A). (D). (O)

Options :

68019148097. 1
68019148098. 2
68019148099. 3

68019148100. 4



